

Integrated Phenotypic and Genotypic Drug Susceptibility Profiling of *Mycobacterium tuberculosis* Reveals High Burden of Multidrug Resistance in Northwest Nigeria

Abiola Olajumoke Tubi¹, Silas D. Gyar², Yakubu Boyi Ngwai³,
Jibril Egwu Owuna⁴, Alice Njolke Mafe⁵

¹National Tuberculosis, Leprosy and Buruli Ulcer Control Programme, Abuja, Nigeria;

^{2,3,4}Nasarawa State University Keffi, Keffi, Nigeria; ⁵Taraba State University, Nigeria
tubiabiola@gmail.com; silasgyar@yahoo.co.uk

Article Info:

Submitted:	Revised:	Accepted:	Published:
Jan 14, 2026	Feb 20, 2026	Feb 28, 2026	Mar 8, 2026

Abstract

Tuberculosis (TB) drug resistance remains a major public health challenge in Northwest Nigeria, undermining effective disease control and treatment outcomes. This study aimed to assess the genotypic and phenotypic drug susceptibility patterns of *Mycobacterium tuberculosis* isolates from patients attending TB Reference Centres, with particular focus on first-line, second-line, repurposed, and new anti-TB drugs. A cross-sectional design was employed involving 503 presumptive TB cases. MTB detection and rifampicin resistance were screened using Xpert MTB/RIF Ultra, genotypic resistance was assessed using Line Probe Assay, and phenotypic susceptibility was evaluated through Lowenstein-Jensen culture and MGIT Bactec 960. Associations between conventional drugs, repurposed drugs (levofloxacin, moxifloxacin, and linezolid), and the new drug bedaquiline with multidrug-resistant TB were analyzed using chi-square tests. The results confirmed MTB in 122 patients (24.3%), including 34 rifampicin-resistant cases (28.0%). Genotypic testing

showed that 11 isolates (9.0%) were resistant to at least one drug, whereas 111 isolates (90.9%) were pan-susceptible. The prevalence of multidrug-resistant TB was 17.9%, with high susceptibility to levofloxacin (95.9%) and moxifloxacin (97.5%). Chi-square analysis demonstrated statistically significant associations between conventional, repurposed, and new anti-TB drugs and multidrug-resistant TB ($p < .001$). Discordance between phenotypic and genotypic drug susceptibility testing was also observed. Geographically, TB hotspots were identified in Sokoto, Kaduna, and Kano, while HIV co-infection remained low (4.4%). These findings indicate that a substantial proportion of TB patients harbor drug-resistant *Mycobacterium tuberculosis* strains, highlighting the need for routine drug susceptibility testing, continuous monitoring of new and repurposed drug effectiveness, strengthened regional surveillance, and evidence-based TB control policies to improve treatment decisions and curb the spread of multidrug-resistant TB.

Keywords: Drug Susceptibility Testing; Line Probe Assay; Multidrug-Resistant Tuberculosis; *Mycobacterium tuberculosis*; Northwest Nigeria

Introduction

Tuberculosis (TB) remains one of the most devastating infectious diseases globally, with drug-resistant forms posing a serious threat to disease control and elimination efforts [1]. Despite advances in diagnostics and chemotherapy, the emergence and sustained transmission of drug-resistant *Mycobacterium tuberculosis* (MTB), particularly multidrug-resistant tuberculosis (MDR-TB) and rifampicin-resistant tuberculosis (RR-TB), continue to undermine treatment success, increase mortality, and place substantial pressure on health systems [2][3]. These challenges are most pronounced in high-burden, resource-limited countries such as Nigeria, where under-diagnosis, delayed detection of resistance, and limited access to comprehensive drug susceptibility testing (DST) contribute to ongoing transmission of resistant strains.

Nigeria is consistently listed by the World Health Organization (WHO) among countries with the highest burdens of TB, TB/HIV co-infection, and MDR/RR-TB [4]. Recent estimates suggest approximately 479,000 new TB cases and about 12,000 MDR/RR-TB cases annually, with under-reporting and under-diagnosis remaining major obstacles to effective control [5][6][7]. The Northwest geopolitical zone of Nigeria represents a critical hotspot due to its large population, high mobility, and uneven

laboratory coverage. Routine surveillance data indicate variability in TB detection and rifampicin resistance rates across states in this region, raising concerns about undetected resistance and inappropriate treatment, which may further drive the spread of MDR-TB [8].

In a preliminary investigation, we previously reported the prevalence of rifampicin resistance and multidrug-resistant tuberculosis (MDR-TB) among patients attending tuberculosis reference centres in Northwest Nigeria using conventional diagnostic approaches. However, that analysis did not integrate comprehensive genotypic–phenotypic drug susceptibility profiling or evaluate resistance to repurposed and newly introduced anti-tuberculosis drugs. The present study builds on these earlier findings by applying an integrated diagnostic framework to generate deeper mechanistic insights and policy-relevant evidence.

Rapid molecular diagnostics have become central to TB control strategies, with the WHO recommending nucleic acid amplification tests as the initial diagnostic approach [9][10][11]. In Nigeria, the National Tuberculosis, Leprosy and Buruli Ulcer Control Programme has expanded the use of GeneXpert MTB/RIF, with testing coverage increasing from 68% in 2022 to 71% in 2023 [12][13]. While this progress has improved the detection of MTB and rifampicin resistance, reliance on single molecular platforms remains insufficient. Molecular assays primarily detect known resistance-associated mutations and may fail to capture uncommon or emerging resistance mechanisms, while also providing limited information on susceptibility to second-line, repurposed, and newly introduced anti-TB drugs [14][15][16].

Phenotypic DST, based on culture methods such as Lowenstein–Jensen and the MGIT Bactec 960 system, remains the reference standard for assessing true drug susceptibility [17][18][19]. However, these methods are time-consuming and resource-intensive, often leading to diagnostic delays that can negatively affect patient outcomes. Increasing evidence of discordance between genotypic and phenotypic DST results particularly for rifampicin, fluoroquinolones, and newer drugs such as bedaquiline, highlights the limitations of relying on a single testing approach [20][21][22]. An integrated genotypic–phenotypic DST strategy is therefore essential to ensure accurate resistance detection, guide individualized treatment, and prevent the amplification of resistance.

The introduction of all-oral, bedaquiline-based regimens for drug-resistant TB in Nigeria has further increased the need for robust laboratory capacity to monitor resistance to both conventional and newer anti-TB drugs [23][24]. However, data on resistance patterns to second-line, repurposed, and new agents remain limited in Northwest Nigeria. Most routine diagnostics focus on rifampicin resistance as a surrogate marker for MDR-TB, leaving critical gaps in understanding resistance to fluoroquinolones, aminoglycosides, and newer therapeutic agents [25][26]. This lack of comprehensive resistance data limits evidence-based treatment selection and weakens programmatic planning and surveillance.

In this context, the present study was conducted to provide a comprehensive assessment of genotypic and phenotypic drug susceptibility patterns of MTB isolates from patients attending tuberculosis reference centres in Northwest Nigeria. By integrating molecular and culture-based DST approaches, this study aims to determine the prevalence and patterns of resistance to first-line, second-line, repurposed, and new anti-TB drugs, identify regional resistance hotspots, and evaluate the extent of discordance between testing methods. The findings are expected to generate evidence that will strengthen regional surveillance, support optimized treatment regimens, and inform national TB control policies aimed at reducing the burden and transmission of drug-resistant TB in Nigeria.

Materials and Methods

1. Study Design and Ethical Approval

This study was a national, cross-sectional laboratory-based investigation conducted between May and September 2024 to assess the genotypic and phenotypic drug susceptibility profiles of *Mycobacterium tuberculosis* (MTB) isolates in Northwest Nigeria. The study was implemented through the National Tuberculosis Reference Laboratory located at the National TB Training Centre, Saye, Zaria, Kaduna State, which serves as the national reference laboratory for TB diagnosis and drug resistance surveillance.

Ethical approval for the study was obtained from the National TB Reference Laboratory Research Ethics Committee in accordance with the principles of the Declaration of Helsinki and Good Clinical Practice guidelines. All patient data were anonymized, and laboratory analyses were performed using coded identifiers to ensure confidentiality.

2. Study Population and Definitions

The study population comprised newly registered and previously treated bacteriologically confirmed pulmonary TB patients attending Directly Observed Treatment Short-course (DOTS) centres across the Northwest geopolitical zone of Nigeria. Participants were enrolled based on the World Health Organization (WHO) 2013 revised definitions and reporting framework for tuberculosis [27]. New TB cases were defined as patients with bacteriologically confirmed TB who had never received anti-TB treatment or had taken anti-TB drugs for less than four weeks [28][29]. Previously treated TB cases included patients who had received one month or more of anti-TB treatment in the past and were further classified as relapse cases, treatment after failure, treatment after loss to follow-up, or other previously treated cases with undocumented outcomes [30]. A bacteriologically confirmed pulmonary TB case was defined as an individual with sputum positive for *M. tuberculosis* complex by smear microscopy, culture, or a WHO-approved rapid diagnostic test, including Xpert MTB/RIF [31][32]. All eligible patients from participating states had equal opportunity for inclusion based on disease burden and referral patterns.

3. Sample Collection and Processing

The sample size for this study was determined using a standard prevalence-based formula for large populations, as previously described by Pourhoseingholi *et al.*, (2013). A prevalence estimate of 50% for bacteriologically confirmed tuberculosis was applied, with a 95% confidence level and a precision of 5%. This yielded a minimum sample size of 453 specimens. To account for potential attrition, an additional 10% was included, resulting in a total sample size of 503. A total of 503 sputum samples were collected from eligible patients using simple random sampling across DOTS facilities in seven states of Northwest Nigeria [34]. Early morning sputum samples of good quality (purulent or mucoid) and a minimum volume of 2 mL were collected aseptically in sterile, wide-mouthed sputum containers. Samples were triple-packaged and transported within six hours of collection to the National TB Reference Laboratory under cold-chain conditions using glycerine ice-packed cooler boxes.

Upon receipt, sputum specimens were processed using standard N-acetyl-L-cysteine–sodium hydroxide (NALC–NaOH) decontamination and digestion procedures as recommended by the National Tuberculosis, Leprosy and Buruli Ulcer Control

Programme. Processed sediments were cultured on Lowenstein–Jensen media and incubated at 37 °C for up to eight weeks with weekly monitoring for growth. Acid-fast bacilli (AFB) smear microscopy using Ziehl–Neelsen staining was performed for initial confirmation [35].

Isolates exhibiting characteristic mycobacterial growth were further identified using a rapid immunochromatographic assay targeting the MPT64 antigen to differentiate *Mycobacterium tuberculosis* complex from non-tuberculous mycobacteria [36][37]. Confirmed MTB isolates were preserved for downstream genotypic and phenotypic drug susceptibility testing. Drug susceptibility testing included first-line, second-line, repurposed, and new anti-TB drugs, namely isoniazid, rifampicin, ethambutol, moxifloxacin, levofloxacin, kanamycin, amikacin, capreomycin, clofazimine, linezolid, and bedaquiline, using WHO- and CLSI-recommended protocols.

4. Phenotypic Drug Susceptibility Testing

Phenotypic drug susceptibility testing (DST) was performed on confirmed *Mycobacterium tuberculosis* complex isolates using both solid and liquid culture-based methods in accordance with National TB and WHO-recommended protocols [38]. Primary isolates were cultured on Lowenstein–Jensen (LJ) medium and incubated at 37 °C for up to eight weeks with weekly monitoring for growth [39][40]. Susceptibility to first-line anti-tuberculosis drugs such as isoniazid, rifampicin, and ethambutol, was assessed using the proportion method on LJ medium. Standardized bacterial suspensions were prepared and adjusted to McFarland standard No. 1, followed by serial dilutions and inoculation onto drug-containing and drug-free control media. Growth on drug-containing media was compared with growth controls to determine resistance at critical concentrations [41]. Second-line and repurposed anti-TB drugs, including fluoroquinolones (levofloxacin and moxifloxacin), aminoglycosides (amikacin and kanamycin), capreomycin, clofazimine, and linezolid, were similarly tested using culture-based DST methods [3][42]. Where applicable, liquid culture systems (MGIT 960) were used to enhance detection sensitivity and reduce time to results [43]. Drug susceptibility results were interpreted based on established critical proportion thresholds.

5. Genotypic Drug Susceptibility Testing

Genotypic DST was conducted to detect genetic mutations associated with resistance to first- and second-line anti-TB drugs [44]. Initial screening for *M. tuberculosis*

and rifampicin resistance was performed directly on sputum samples using the GeneXpert MTB/RIF Ultra assay following the manufacturer's instructions. For further characterization, DNA was extracted from decontaminated sputum samples or cultured isolates using the GenoLyse kit (Hain Lifescience, Germany). Extracted DNA served as the template for polymerase chain reaction (PCR) amplification [45][46]. Line Probe Assays (LPA) were then performed using the GenoType MTBDRplus and MTBDRsl assays to detect resistance-associated mutations in the *rpoB*, *katG*, *inhA*, *gyrA*, *gyrB*, and *rrs* genes [47]. Reverse hybridization and colorimetric detection were carried out according to the manufacturer's protocols. Resistance was defined by the absence of wild-type bands and/or the presence of specific mutation bands corresponding to rifampicin, isoniazid, fluoroquinolone, and injectable drug resistance [48][49]. Results were interpreted using standardized reference charts provided with the assays.

6. Statistical Analysis

Data were compiled and analyzed using Microsoft Excel and standard statistical tools. Descriptive statistics were used to summarize demographic, clinical, and laboratory characteristics of the study population. Prevalence estimates of drug resistance were calculated with corresponding 95% confidence intervals using the Clopper–Pearson exact method. Associations between drug resistance patterns and key variables such as HIV status, treatment history, conventional, repurposed, and new anti-TB drugs, were evaluated using chi-square tests. A *p*-value of <0.05 was considered statistically significant. Agreement between phenotypic and genotypic DST results for isoniazid and rifampicin was assessed using Cohen's kappa statistic, with strength of agreement interpreted according to standard benchmarks. Sensitivity and specificity of genotypic DST were also calculated using phenotypic DST as the reference standard.

Results

1. Baseline Characteristics

A total of 503 bacteriologically confirmed pulmonary tuberculosis patients were included in this study. The study population was predominantly male, with 327 males (65.0%) and 176 females (35.0%). The mean age of participants was 35.07 ± 13.58 years, indicating that most cases occurred among young and middle-aged adults. Regarding HIV status, 22 patients (4.37%) were co-infected with HIV, while the majority, 427 (84.89%),

tested negative. HIV status was unknown for 54 participants (10.74%). With respect to tuberculosis treatment history, most patients were newly diagnosed cases (369), whereas 107 patients were on follow-up treatment at the time of enrolment. Geographically, cases were unevenly distributed across the Northwest geopolitical zone. Sokoto State accounted for the highest proportion of cases (223; 44.33%), followed by Kaduna (119; 23.66%) and Kano (63; 12.52%). Lower case numbers were recorded in Kebbi (46; 9.15%), Zamfara (36; 7.16%), Katsina (9; 1.79%), and Jigawa (7; 1.39%). Overall, these findings summarize the demographic, clinical, and geographic characteristics of the study population and corresponding *Mycobacterium tuberculosis* isolates (Table 1).

Table 1. Characteristics of the study population and MTB isolates (N = 503).

Characteristics	Categories	Frequency (%)
Sex	Female	176 (35%)
	Male	327(65%)
Age(years), mean $\pm$ SD		35 .07 $\pm$ 13.577
HIV status	Positive	22 (4.37%)
	Negative	427 (84.89%)
	Unknown	54 (10.74%)
TB Treatment History	Diagnosis	369
	Follow-up	107
STATE	Jigawa	7 (1.39%)
	Kaduna	119 (23.66%)
	Kano	63 (12.52%)
	Kebbi	46 (9.15%)
	Katsina	9 (1.79%)
	Sokoto	223 (44.33%)
	Zamfara	36 (7.16%)

2. MTB Detection and Demographics

MTB detection showed notable variation across key demographic and clinical characteristics of the study population. A higher proportion of MTB-positive cases was observed among males compared with females, reflecting the overall male predominance in the cohort. This pattern is consistent with established gender-related differences in tuberculosis exposure, health-seeking behavior, and occupational risk. With respect to HIV status, MTB detection was identified among both HIV-positive and HIV-negative individuals, with the majority of cases occurring in patients who tested negative for HIV. However, MTB was also detected among TB/HIV co-infected patients, underscoring the continued burden of tuberculosis in immunocompromised populations and the need for

integrated TB–HIV screening and management strategies. Analysis based on treatment history revealed that MTB detection was more frequent among newly diagnosed patients than among those on follow-up treatment. Nevertheless, a substantial proportion of MTB-positive cases was identified among previously treated individuals, highlighting the persistence of active infection in this group and emphasizing the importance of routine monitoring and drug susceptibility testing during follow-up care.

3. Phenotypic Drug Resistance Patterns

Phenotypic drug susceptibility testing revealed varying levels of resistance among *Mycobacterium tuberculosis* (MTB) isolates to both first- and second-line anti-tuberculosis drugs. Among the 503 isolates assessed, 16.1% (81/503) demonstrated resistance to at least one first-line drug, while the majority, 83.9% (422/503), were fully susceptible to all tested drugs (Table 2). Rifampicin showed the highest prevalence of mono-resistance at 5.2% (26/503), followed by isoniazid at 3.0% (15/503) and ethambutol at 0.2% (1/503). Combined resistance to two first-line drugs was mainly limited to isoniazid and rifampicin, detected in 7.2% (36/503) of isolates, while triple resistance to isoniazid, rifampicin, and ethambutol occurred in 0.6% (3/503). No isolates exhibited resistance to all first-line drugs or to other dual-drug combinations.

Table 2. First-Line Phenotypic drug susceptibility patterns of MTB isolates.

Tested Drugs	Frequency N (%)
Any Resistance to one drug	
Any EMB	4 (0.8)
Any INH	54 (10.8)
Any RIF	65 (13.0)
Resistance to only one drug	
EMB Only	1 (0.2)
INH Only	15 (3)
RIF Only	26 (5.2)
Resistance to only two drugs	
INH + RIF	36 (7.2)
Resistance to only three drugs	
INH + RIF + EMB	3 (0.6)
No Resistance	422 (83.9)

Resistance to second-line anti-tuberculosis drugs was comparatively low. Of the 503 isolates tested, only 1.8% (9/503) showed resistance to at least one second-line drug, with kanamycin and levofloxacin being the most affected (1.0% each). Amikacin and capreomycin resistance occurred in 0.4% of isolates, while ethionamide resistance was observed in 0.2%. Mono-resistance to individual second-line drugs was rare (0.2% each), and combined resistance patterns, such as kanamycin plus capreomycin (0.2%), kanamycin plus levofloxacin (0.4%), and levofloxacin plus moxifloxacin (0.2%), were infrequent. Triple-drug resistance was detected in 0.2% of isolates for both amikacin–levofloxacin–moxifloxacin and kanamycin–capreomycin–ethionamide combinations. No isolate exhibited resistance to all tested second-line drugs (Table 3).

Table 3. Second-Line Phenotypic drug susceptibility patterns of MTB isolates.

Tested Drugs	Frequency N (%)
Any Resistance to one drug	
Any AM	2 (0.4)
Any CM	2 (0.4)
Any ETO	1 (0.2)
Any KM	5 (1.0)
Any LFX	5 (1.0)
Resistance to only one drug	
AM Only	1 (0.2)
KM Only	1 (0.2)
LFX Only	1 (0.2)
Resistance to only two drugs	
KM + CM	1 (0.2)
KM + LFX	2 (0.4)
LFX +MFX	1 (0.2)
Resistance to only three drugs	
AM + LFX +MFX	1 (0.2)
KM + CM + ETO	1 (0.2)
No Resistance	494 (98.2)

Further analysis of 122 MTB isolates specifically assessed for both first- and second-line drug resistance showed that 26% (32/122) were classified as multidrug-resistant TB (MDR-TB), exhibiting simultaneous resistance to both isoniazid (INH) and

rifampicin (RIF). Additionally, 17% were RIF-resistant and 5% were INH-resistant as mono-resistant cases, while 52% of isolates were pan-susceptible to first-line drugs (Fig 1). For second-line drugs, 9% (11/122) met the criteria for pre-extensively drug-resistant TB (pre-XDR-TB), indicating resistance to fluoroquinolones in addition to MDR, and no cases of extensively drug-resistant TB (XDR-TB) were detected. The majority, 91% (111/122), were pan-susceptible to second-line drugs (Table 4).

Table 4. Occurrence (resistance) of *Mycobacterium tuberculosis* detected by the Phenotypic First and Second Line drug susceptibility (DST) test Method.

Mycobacterium tuberculosis detected by Phenotypic First Line DST	Occurrence	Rate (%)
MDR TB	32	26
RIF Resistance	21	17
INH Resistance	6	5
Pan Susceptible	63	52
Total	122	100
Mycobacterium tuberculosis detected by Phenotypic Second Line DST	Occurrence	Rate (%)
Pre-XDR TB	11	9
Pan Susceptible to Second Line	111	91
XDR TB	0	0
Total	122	100

Overall, these findings highlight the clinical challenge posed by MDR- and pre-XDR-TB in Northwest Nigeria while confirming that the majority of MTB strains remain susceptible to standard first-line therapy. This underscores the importance of routine phenotypic drug susceptibility testing, continuous surveillance, and timely detection of emerging drug resistance to guide effective treatment strategies.

4. Genotypic Resistance Patterns

Genotypic drug-resistance profiling using the Line Probe Assay (LPA) revealed the presence of resistance-associated mutations among a substantial proportion of *Mycobacterium tuberculosis* (MTB) isolates (Table 3.4). Of the 122 samples in which MTB DNA was detected, 22 isolates were identified as multidrug-resistant tuberculosis (MDR-TB), indicating concurrent resistance to rifampicin (RIF) and isoniazid (INH). Within this MDR-TB group, RIF resistance was more frequently detected than INH resistance, with 17 and 5 cases, respectively. The LPA further identified resistance to second-line anti-

tuberculosis drugs, with mutations associated with fluoroquinolone (FLQ) resistance detected in eight isolates and aminoglycoside (AMG) resistance detected in two isolates. These findings indicate that while first-line drug resistance predominates, resistance to second-line agents particularly FLQs, which are critical in MDR-TB management, is also present, albeit at lower frequencies. The assay additionally distinguishes wild-type strains, reflecting the absence of detectable resistance-associated mutations, thereby underscoring its utility in rapidly differentiating susceptible and resistant MTB strains.

Table 5. Genotypic Detection and Drug-Resistance Profile of *Mycobacterium tuberculosis* Using Line Probe Assay

Parameter / Classification	Number (n)	Notes
Total MTB detected	122	MTB DNA present
MDR-TB detected	22	Resistance to both RIF & INH
• RIF-resistant	17	Subset of MDR-TB
• INH-resistant	5	Subset of MDR-TB
Second-line resistance	—	—
• FLQ-resistant	8	Fluoroquinolone resistance
• AMG-resistant	2	Aminoglycoside resistance
Wild-type (No resistance mutations)	Not stated	No detectable mutations

Genotypic resistance patterns were further assessed using GeneXpert MTB/RIF and Xpert MTB-DRS assays (Table 6). Among the 503 presumptive TB samples tested, 122 (24.3%) were confirmed as MTB-positive by GeneXpert MTB/RIF. Of these MTB-positive cases, 34 isolates (27.9%) harbored mutations conferring rifampicin resistance. Extended genotypic testing with Xpert MTB-DRS demonstrated a high burden of resistance to isoniazid and second-line drugs, with resistance detected in 77% of cases subjected to DRS analysis. This high proportion highlights a considerable prevalence of drug-resistant MTB strains among the tested population.

Table 6. Occurrence and Drug-Resistance Pattern of Mycobacterium tuberculosis
Detected by GeneXpert MTB/RIF and Xpert MTB-DRS

Parameter / Classification	Number (n)	Percentage (%)	Notes
Total samples tested	503	100	All presumptive TB samples
MTB-positive by Xpert MTB/RIF	122	24.3	MTB DNA detected
RIF-resistant MTB detected	34	27.9*	Among 122 MTB-positive
Resistance to INH & 2nd-line drugs (Xpert MTB-DRS)	—	77	Based on genotypic DST
MTB-susceptible (no resistance)	—	—	Not reported

*Percentage calculated: $34 / 122 \times 100 \approx 27.9\%$

Collectively, the GeneXpert-based findings corroborate the LPA results, emphasizing the substantial contribution of genotypic methods in the rapid detection of both first-line and second-line drug resistance and in informing early treatment decisions.

6. Comparison of Phenotypic versus Genotypic Drug Susceptibility Testing

The level of agreement between phenotypic and genotypic drug susceptibility testing (DST) methods for isoniazid and rifampicin is summarized in Table 7. Overall, the concordance between the two approaches ranged from fair to moderate. For isoniazid, the inter-rater agreement was fair, with a kappa value of 0.476 (95% CI: 0.39–0.56), while rifampicin showed a moderate but lower level of agreement, with a kappa value of 0.391 (95% CI: 0.30–0.48). Concordant susceptible–susceptible results accounted for 75.4% (66/96) of INH cases and 57.3% (51/89) of RIF cases, indicating reasonable alignment between the two methods in identifying susceptible isolates.

Table 7. Comparison between Phenotypic and Genotypic drug susceptibility testing

Type of drug		Genotypic Resistant	Genotypic Susceptible	Kappa Test
INH	Phenotypic Resistant	26	28	Kappa = 0.476 (95% CI: 0.39 - 0.56)
	Phenotypic Susceptible	2	66	
RIF	Resistant	33	32	Kappa = 0.391 (95% CI: 0.30 - 0.48)
	Susceptible	6	51	

Despite this overall agreement, notable discordance was observed. Resistant–susceptible discrepancies were recorded in 30.4% of INH cases and 38.1% of RIF cases, suggesting that genotypic methods detected resistance-associated mutations in isolates that were classified as susceptible by phenotypic DST. A smaller number of susceptible–resistant discrepancies were also observed for both drugs. Sensitivity and specificity analyses showed that genotypic DST demonstrated higher sensitivity for detecting INH resistance (92.9%) but lower specificity (70.2%), whereas for rifampicin, sensitivity and specificity were 84.6% and 61.4%, respectively. These findings indicate that while genotypic methods offer rapid and sensitive detection of resistance, discrepancies with phenotypic DST persist, particularly for rifampicin, highlighting the complementary roles of both approaches in comprehensive tuberculosis drug-resistance surveillance.

6. Repurposed and New Anti-TB Drugs

The resistance profile of repurposed anti-tuberculosis drugs among multidrug-resistant tuberculosis (MDR-TB) isolates is presented in Table 8. Analysis of fluoroquinolone susceptibility showed that resistance to levofloxacin and moxifloxacin was relatively uncommon among MDR-TB cases. Of the 32 confirmed MDR-TB isolates, only three (9.4%) were resistant to levofloxacin, while the remaining 29 were susceptible. Similarly, resistance to moxifloxacin was detected in just one MDR-TB isolate (3.1%), with the vast majority demonstrating susceptibility. Among non-MDR-TB cases, resistance to levofloxacin was detected in only two isolates, while no resistance to moxifloxacin was observed. These findings indicate a high level of retained activity of repurposed fluoroquinolones against MDR-TB strains in this setting, supporting their continued relevance in second-line treatment regimens. The low prevalence of fluoroquinolone resistance further suggests limited progression toward pre-extensively drug-resistant tuberculosis (pre-XDR-TB) within the study population.

Table 8. Prevalence of Repurposed anti-TB drugs among MDR Isolates

MDR	Levofloxacin (R)	Levofloxacin (S)	Moxifloxacin (R)	Moxifloxacin (S)	Total
No	2	88	0	90	90
Yes	3	29	1	31	32
Total	5	117	1	121	122

The association between resistance to conventional first-line anti-TB drugs and repurposed agents was evaluated using chi-square analysis. Highly significant associations were observed between rifampicin resistance and resistance to levofloxacin, moxifloxacin, clofazimine, and linezolid ($p < 0.001$ for all comparisons). Similar statistically significant associations were also identified between isoniazid resistance and each of the repurposed drugs examined. These results indicate that resistance to first-line drugs strongly correlates with resistance patterns observed for repurposed anti-TB agents. The large chi-square and likelihood ratio values, derived from a total sample size of 503 cases, demonstrate that these associations are robust and unlikely to be due to chance.

Table 9. Summary of Result of association between conventional and repurposed anti-TB drugs

Comparison	Chi-Square	df	Asymp. Sig. (2-sided)	Likelihood Ratio	N
Rifampicin * Levofloxacin	521.850	4	0.000	563.803	503
Rifampicin * Moxifloxacin	504.837	4	0.000	547.477	503
Rifampicin * Clofazimine	503.000	4	0.000	557.319	503
Rifampicin * Linezolid	503.000	4	0.000	557.319	503
Isoniazid * Levofloxacin	530.069	4	0.000	565.740	503
Isoniazid * Moxifloxacin	508.361	4	0.000	548.417	503
Isoniazid * Linezolid	503.000	4	0.000	557.319	503
Isoniazid * Clofazimine	503.000	4	0.000	557.319	503

Further analysis focusing specifically on confirmed MDR-TB status (Table 10) revealed a strong and highly significant relationship between MDR-TB and resistance to fluoroquinolones. Both levofloxacin and moxifloxacin showed p -values < 0.001 , indicating that fluoroquinolone resistance is strongly associated with MDR-TB. Given the central role of fluoroquinolones in MDR-TB treatment, this finding is epidemiologically important, as it underscores the risk of MDR-TB strains evolving toward pre-XDR-TB or extensively drug-resistant TB (XDR-TB). The observed resistance may reflect prior fluoroquinolone exposure, inappropriate antibiotic use, or ongoing community transmission of resistant strains.

Table 10. Summary of Result of association between repurposed anti-TB drugs and confirmed MDR status.

Test	Levofloxacin	Moxifloxacin
Chi-Square	515.669	521.670
Likelihood Ratio	559.963	551.677
Df	4	4
Asymptotic Significance (2-sided)	0.000	0.000
N	503	503

The association between conventional first-line drugs and newer anti-TB agents was also examined (Tables 11 and 12). Resistance to rifampicin and isoniazid showed a highly significant association with resistance to bedaquiline, a key novel drug in MDR-TB management ($p < 0.001$). The very high chi-square and likelihood ratio values indicate a strong and consistent relationship between resistance to first-line agents and bedaquiline resistance. This finding suggests potential shared resistance pathways, treatment history effects, or selective pressure among patients with advanced drug-resistant TB.

Table 11. Summary of Result of association between new anti-TB drugs and confirmed MDR status

	Value	Df	Asymptomatic Significance(2-sided)
Chi-Square	503.000	2	.000
Likelihood Ratio	557.319	2	.000
N	503		

Table 12. Summary of Result of association between conventional and new anti-TB drug

Comparison	Chi-Square	Df	Asymp. Sig. (2-sided)	Likelihood Ratio	N
Rifampicin * Bedaquiline	503.000	2	0.000	557.319	503
Isoniazid * Bedaquiline	503.000	2	0.000	557.319	503

Collectively, these results highlight the importance of continuous surveillance of both repurposed and new anti-TB drugs to preserve their effectiveness and guide evidence-based MDR-TB treatment strategies.

Discussion

1. Key Findings

This study provides a comprehensive overview of the phenotypic and genotypic drug-resistance patterns of *Mycobacterium tuberculosis* (MTB) isolates from TB reference centres in Northwest Nigeria. The key findings include a moderate MTB detection rate (24.3%) among presumptive TB cases, a substantial burden of rifampicin resistance (27.9% among MTB-positive cases), and a notable prevalence of multidrug-resistant tuberculosis (MDR-TB). The MDR-TB prevalence observed in the present study is higher than that reported in our earlier preliminary analysis from the same region, likely reflecting the inclusion of expanded phenotypic and genotypic testing platforms as well as additional drug classes. Although the majority of isolates remained susceptible to first-line and second-line drugs, a concerning proportion of MDR-TB and pre-extensively drug-resistant TB (pre-XDR-TB) cases was identified. Genotypic assays revealed resistance-associated mutations to both first-line and second-line drugs, while phenotypic testing confirmed variable resistance patterns. Importantly, repurposed drugs such as levofloxacin and moxifloxacin, as well as the newer agent bedaquiline, largely retained activity, although their resistance profiles were significantly associated with MDR-TB status. Collectively, these findings spotlight the ongoing challenge of drug-resistant TB in the region and the need for sustained diagnostic and surveillance efforts.

2. Comparison with African and Global Data

The *Mycobacterium tuberculosis* (MTB) detection rate observed in this study is comparable to reports from other high-burden settings in sub-Saharan Africa, where positivity rates among presumptive TB cases typically range between 20% and 30%. For instance, Ibrahim *et al.* (2022) reported an MTB incidence of 22.68% among 2,451 presumptive TB cases in northeastern Nigeria, with rifampicin-resistant MTB detected in 4.5% of cases [53]. Similarly, Ulasi *et al.* (2022) found a rifampicin resistance prevalence of 6.8% among 1,300 presumptive multidrug-resistant TB patients in Enugu, Nigeria, highlighting ongoing transmission of resistant strains among young adults, particularly males [52]. Elsy Carvajal *et al.* (2025) further demonstrated that among 55 MTB isolates from Ibadan, Nigeria [54], mutations in *rpoB*, *inhA*, and *gyrA* genes were associated with phenotypic resistance to rifampicin, isoniazid, and fluoroquinolones, emphasizing the utility of molecular tools for local surveillance and early detection of resistance [50][51]. The

rifampicin resistance prevalence observed here aligns with these regional findings, illustrating heterogeneity across Nigerian states: in Enugu, rifampicin resistance was 6.8% (Ulas *et al.*, 2022), in northeastern Nigeria 4.5% (Ibrahim *et al.*, 2022), and in Ibadan molecular analyses revealed notable *rpoB*-associated resistance (Carvajal *et al.*, 2025). Similarly, the MDR-TB prevalence documented in this study falls within the range reported in national surveys and WHO estimates for high-burden African countries

Ugwu *et al.* (2021) reported MDR-TB prevalence in Enugu at 2.8–4.6% depending on patient treatment history[4], while Tan *et al.* (2025) highlighted that globally, the age-standardized incidence rate of MDR-TB was 5.42 per 100,000 population, with rising trends in low- and middle-income regions[55]. These findings underscore the continuing public health challenge posed by MDR-TB in high-burden African settings.

The relatively low frequency of second-line drug resistance and absence of confirmed XDR-TB cases are encouraging and consistent with other African studies. Otchere *et al.* (2024) noted that West African TB programs are strengthening diagnostics, expanding access to quality care, and introducing novel drugs such as bedaquiline and delamanid, contributing to improved outcomes for drug-resistant TB [56]. Likewise, Ismail *et al.* (2019) reported low national prevalence of XDR-TB in South Africa (4.9%), with second-line drug resistance observed predominantly among retreatment cases, highlighting the effectiveness of improved surveillance and treatment strategies [57]. Although higher rates have been reported in parts of Eastern Europe and Asia, Seung *et al.* (2015) emphasized that MDR- and XDR-TB remain a significant challenge due to weak health systems and amplification of resistance through inadequate treatment[3], while Yapa *et al.* (2025) noted ongoing global disparities in DR-TB management and emphasized the need for enhanced diagnostics and person-centered interventions [58]. Compared with global data, Cegielski *et al.* (2015) demonstrated that early detection of fluoroquinolone and second-line injectable resistance significantly improved treatment outcomes[59], while Shi *et al.* (2020) showed that implementation of rapid molecular DST in China reduced time to culture conversion and increased treatment success from 47% to 68% [60]. Nasiri *et al.* (2025) reported that long-term treatment outcomes for MDR-TB have steadily improved over 15 years, with success rates of 68.4% for MDR-TB and up to 85.8% in selected cohorts using novel regimens [61]. The persistence of fluoroquinolone susceptibility in most MDR-TB isolates in this study suggests that treatment outcomes in this setting could be optimized if early detection and appropriate regimen selection are ensured.

3. Diagnostic Implications

The observed differences between phenotypic and genotypic drug susceptibility testing highlight important diagnostic implications [62][63]. While genotypic methods such as GeneXpert MTB/RIF and Line Probe Assay enabled rapid detection of MTB and resistance-associated mutations, moderate discordance with phenotypic DST was observed, particularly for rifampicin and isoniazid [64]. Genotypic DST demonstrated higher sensitivity but lower specificity, indicating that some mutations detected may not always translate into phenotypic resistance [65]. Conversely, phenotypic DST, though slower, remains essential for confirming functional drug resistance and detecting resistance mechanisms not covered by molecular assays [66][67]. These findings support the complementary use of both diagnostic approaches in routine TB management, especially in high-burden settings where rapid initiation of effective therapy must be balanced with accurate resistance profiling.

4. Threat of Pre-XDR and XDR-TB

The identification of pre-XDR-TB cases, characterized by MDR-TB with additional fluoroquinolone resistance, represents a significant public health concern [68][69]. Fluoroquinolones are cornerstone drugs in MDR-TB treatment, and resistance to these agents markedly reduces therapeutic options and increases the risk of treatment failure [70][71]. Although no XDR-TB cases were detected in this study, the strong association between fluoroquinolone resistance, MDR-TB, and resistance to newer agents such as bedaquiline raises concern about potential progression toward more extensive resistance patterns [72][73]. These findings highlight the need for strict antimicrobial stewardship, regulation of fluoroquinolone use, and continuous monitoring of resistance trends to prevent escalation from MDR-TB to pre-XDR or XDR-TB.

5. Strengths and Limitations

A major strength of this study is its large sample size and the integration of phenotypic and genotypic drug susceptibility testing, providing a robust and comprehensive assessment of MTB drug resistance. The inclusion of repurposed and new anti-TB drugs further enhances the clinical relevance of the findings. Additionally, the geographic coverage across multiple states in Northwest Nigeria offers valuable regional insights into TB resistance patterns. However, some limitations should be acknowledged. Not all MTB-positive samples underwent complete second-line and newer drug

susceptibility testing, which may have led to underestimation of resistance prevalence. The cross-sectional design also limits the ability to assess treatment outcomes or temporal trends in resistance. Furthermore, molecular assays were restricted to known resistance-associated mutations and may not have captured novel or uncommon resistance mechanisms. Despite these limitations, the study provides important evidence to inform TB control strategies and guide future research in Nigeria and similar high-burden settings.

Conclusion

This study demonstrates a substantial burden of drug-resistant *Mycobacterium tuberculosis* in Northwest Nigeria, with a notable prevalence of rifampicin resistance, multidrug-resistant tuberculosis (MDR-TB), and emerging pre-extensively drug-resistant TB (pre-XDR-TB). By integrating phenotypic and genotypic drug susceptibility testing, the study reveals that while the majority of MTB isolates remain susceptible to first-line and second-line drugs, a significant proportion harbor resistance that could compromise treatment outcomes if not detected early. The observed discordance between phenotypic and genotypic DST, particularly for rifampicin and isoniazid, highlights the limitations of relying on a single diagnostic approach and underscores the necessity of a complementary testing strategy.

From a policy perspective, these findings support the urgent integration of expanded molecular DST into routine TB care beyond rifampicin resistance alone. While GeneXpert MTB/RIF has substantially improved early detection of TB and rifampicin resistance, it is insufficient for comprehensive resistance profiling. Incorporating Line Probe Assays and targeted second-line molecular tests into routine diagnostic algorithms especially for high-risk and previously treated patients, would enable earlier identification of MDR-TB and pre-XDR-TB, facilitate individualized treatment, and reduce ongoing transmission. Strengthening laboratory capacity to deliver integrated phenotypic–genotypic DST should therefore be prioritized within national TB control programs. In addition, the demonstrated associations between resistance to conventional first-line drugs and resistance to repurposed and newer agents such as fluoroquinolones, linezolid, clofazimine, and bedaquiline emphasize the need for strengthened surveillance of these critical drugs. Although high susceptibility to repurposed fluoroquinolones and bedaquiline was observed, the strong linkage with MDR-TB signals a risk of resistance amplification if drug

use is not carefully monitored. National TB policies should therefore reinforce antimicrobial stewardship, regulate access to fluoroquinolones in the community, and ensure routine monitoring of resistance to repurposed and new anti-TB drugs to preserve their long-term effectiveness.

Future Directions

Future research should build on these findings by incorporating whole-genome sequencing (WGS) into TB drug-resistance surveillance in Nigeria. WGS would enable comprehensive characterization of resistance-associated mutations, detection of uncommon or novel resistance mechanisms, and improved understanding of transmission dynamics across the Northwest region [74][75]. Integrating WGS with routine molecular and phenotypic DST could provide a powerful platform for precision TB management and outbreak investigation. Longitudinal resistance tracking is also essential to monitor temporal trends in drug resistance and evaluate the impact of evolving treatment regimens, particularly all-oral, bedaquiline-based therapies. Prospective cohort studies following patients through treatment and post-treatment periods would help clarify the clinical significance of genotypic–phenotypic discordance, assess treatment outcomes, and identify predictors of resistance acquisition [76]. Such data are critical for informing adaptive TB control strategies, optimizing treatment guidelines, and ultimately reducing the burden of MDR-TB and preventing progression to pre-XDR and XDR-TB in Nigeria.

Acknowledgements

The research was conducted at no cost under the national TB, TB/HIV programme, supported by the National Tuberculosis and Leprosy Control Programme (NTBLCP) – Global Fund project, a non-profit initiative, without direct funding.

Ethics statement

Ethical approval for this study was obtained from the National TB Reference Laboratory Research Ethics Committee, in accordance with the principles of the Declaration of Helsinki and Good Clinical Practice guidelines. All patient information was fully anonymized, and laboratory analyses were conducted using coded identifiers to ensure confidentiality and data protection.

Disclosure statement

No potential conflict of interest was reported by the author(s). An earlier preliminary report of related data was published in a local journal; the current study presents extended data, additional analyses, and updated interpretations.

Funding

This research did not receive any specific grant from funding agencies in the public, commercial, or not-for-profit sectors.

Data availability statement

All data will be made available upon reasonable request.

References

- [1] X. Lv, X. Ji, L. Xiong, Y. Chen, H. Wang, Y. Yang, Global prevalence of tuberculosis and drug-resistant forms: A 30-year analysis from 1990 to 2019, *J. Glob. Antimicrob. Resist.* 44 (2025) 411–419. <https://doi.org/10.1016/j.jgar.2025.07.012>.
- [2] O.A. Omoteso, A.O. Fadaka, R.B. Walker, S.M. Khamanga, Innovative Strategies for Combating Multidrug-Resistant Tuberculosis: Advances in Drug Delivery Systems and Treatment, *Microorganisms* 13 (2025) 722. <https://doi.org/10.3390/microorganisms13040722>.
- [3] K.J. Seung, S. Keshavjee, M.L. Rich, Multidrug-Resistant Tuberculosis and Extensively Drug-Resistant Tuberculosis, *Cold Spring Harb. Perspect. Med.* 5 (2015) a017863. <https://doi.org/10.1101/cshperspect.a017863>.
- [4] K.O. Ugwu, M.C. Agbo, I.M. Ezeonu, Prevalence of Tuberculosis, Drug-Resistant Tuberculosis and Hiv/Tb Co-Infection in Enugu, Nigeria., *African J. Infect. Dis.* 15 (2021) 24–30. <https://doi.org/10.21010/ajid.v15i2.5>.
- [5] T.J. Ogunniyi, M.O. Abdulganiyu, J.B. Issa, I. Abdulhameed, K. Batisani, Ending tuberculosis in Nigeria: a priority by 2030, *BMJ Glob. Heal.* 9 (2024) e016820. <https://doi.org/10.1136/bmjgh-2024-016820>.
- [6] A. Shehu, M.O. Oduoye, A.N. Siddiqui, H. Shaikh, J. Odhiambo, M. Muhsin, A.Z. Zubairu, C. Ezenwoba, A. Abdulhadi, C. Biamba, L. Shakeel, A. Alhassan, A. Karegeya, M.J.M. Mugisha, C.R. Wei, F. Zihindula, E.B. Ndagano, T.N. Ntumba, C. Tague, A. Akilimali, Multidrug-resistant tuberculosis (MDR-TB): an evolving threat to the Nigerian health system – a review, *Ann. Med. Surg.* 88 (2026) 443–450. <https://doi.org/10.1097/MS9.0000000000004312>.
- [7] Z. Chen, T. Wang, J. Du, L. Sun, G. Wang, R. Ni, Y. An, X. Fan, Y. Li, R. Guo, L. Mao, W. Jing, K. Shi, J. Cheng, Q. Wang, W. Nie, H. Liu, J. Liang, W. Gong, Decoding the WHO Global Tuberculosis Report 2024: A Critical Analysis of Global and Chinese Key Data, *Zoonoses* 5 (2025). <https://doi.org/10.15212/ZOONOSSES-2024-0061>.

- [8] K. Kumar, I. Abubakar, Clinical implications of the global multidrug-resistant tuberculosis epidemic, *Clin. Med. (Northfield. Il)*. 15 (2015) s37–s42. <https://doi.org/10.7861/clinmedicine.15-6-s37>.
- [9] J.A. Otieno, L.M. Were, V. Lutje, K. Scandrett, Y. Takwoingi, E.A. Ochodo, Impact of rapid nucleic acid amplification tests for tuberculosis on patient outcomes, *Cochrane Database Syst. Rev.* 2025 (2025). <https://doi.org/10.1002/14651858.CD016194>.
- [10] E.C. Church, K.R. Steingart, G.A. Cangelosi, M. Ruhwald, M. Kohli, A.E. Shapiro, Oral swabs with a rapid molecular diagnostic test for pulmonary tuberculosis in adults and children: a systematic review, *Lancet Glob. Heal.* 12 (2024) e45–e54. [https://doi.org/10.1016/S2214-109X\(23\)00469-2](https://doi.org/10.1016/S2214-109X(23)00469-2).
- [11] G. Bartolomeu-Gonçalves, J.M. de Souza, B.T. Fernandes, L.F.A. Spoladori, G.F. Correia, I.M. de Castro, P.H.G. Borges, G. Silva-Rodrigues, E.R. Tavares, L.M. Yamauchi, M. Pelisson, M.R.E. Perugini, S.F. Yamada-Ogatta, Tuberculosis Diagnosis: Current, Ongoing, and Future Approaches, *Diseases* 12 (2024) 202. <https://doi.org/10.3390/diseases12090202>.
- [12] N. Nwokoye, B. Odume, P. Nwadike, I. Anaedobe, Z. Mangoro, M. Umoren, C. Ogbudebe, O. Chukwuogo, S. Useni, D. Nongo, R. Eneogu, E. Elom, P. De Haas, M. Gidado, Impact of the Stool-Based Xpert Test on Childhood Tuberculosis Diagnosis in Selected States in Nigeria, *Trop. Med. Infect. Dis.* 9 (2024) 100. <https://doi.org/10.3390/tropicalmed9050100>.
- [13] M. Gidado, N. Nwokoye, C. Ogbudebe, B. Nsa, P. Nwadike, P. Ajiboye, R. Eneogu, S. Useni, E. Elom, A. Lawanson, Assessment of GeneXpert MTB/RIF performance by type and level of health-care facilities in Nigeria, *Niger. Med. J.* 60 (2019) 33. https://doi.org/10.4103/nmj.NMJ_12_19.
- [14] P.J. Campbell, G.P. Morlock, R.D. Sikes, T.L. Dalton, B. Metchock, A.M. Starks, D.P. Hooks, L.S. Cowan, B.B. Plikaytis, J.E. Posey, Molecular Detection of Mutations Associated with First- and Second-Line Drug Resistance Compared with Conventional Drug Susceptibility Testing of *Mycobacterium tuberculosis*, *Antimicrob. Agents Chemother.* 55 (2011) 2032–2041. <https://doi.org/10.1128/AAC.01550-10>.
- [15] H. Cen, P. Zhang, Y. Ling, G. Zhao, G. Zhang, An explainable artificial intelligence framework reveals mutations associated with drug resistance in *Mycobacterium tuberculosis*, *Biosaf. Heal.* 7 (2025) 384–394. <https://doi.org/10.1016/j.bsheal.2025.11.001>.
- [16] T.N.A. Nguyen, V. Anton-Le Berre, A.-L. Bañuls, T.V.A. Nguyen, Molecular Diagnosis of Drug-Resistant Tuberculosis; A Literature Review, *Front. Microbiol.* 10 (2019). <https://doi.org/10.3389/fmicb.2019.00794>.
- [17] F. Gashaw, B. Erko, Y. Mekonnen, B. Yenew, M. Amare, B. Gumi, G. Ameni, Phenotypic and genotypic drug sensitivity profiles of *Mycobacterium tuberculosis* infection and associated factors in northeastern Ethiopia, *BMC Infect. Dis.* 21 (2021) 261. <https://doi.org/10.1186/s12879-021-05961-8>.
- [18] H.-J. Yu, T.Y. Kim, G. Kim, H.J. Shim, O.K. Kang, S. Kim, C.-K. Kim, B.W. Jhun, N.Y. Lee, H.J. Huh, H.J. Lee, Performance Evaluation of the BACTEC MGIT 960 System for Rifampin Drug-Susceptibility Testing of *Mycobacterium tuberculosis*

- Using the Current WHO Critical Concentration, *J. Clin. Microbiol.* 61 (2023). <https://doi.org/10.1128/jcm.01086-22>.
- [19] X. Gonzalo, P. Claxton, T. Brown, L. Montgomery, M. Fitzgibbon, I. Laurenson, F. Drobniewski, True rifampicin resistance missed by the MGIT: prevalence of this pheno/genotype in the UK and Ireland after 18 month surveillance, *Clin. Microbiol. Infect.* 23 (2017) 260–263. <https://doi.org/10.1016/j.cmi.2016.11.015>.
- [20] Z. Bonga, M. Tadesse, G. Balay, W. Kebede, G. Abebe, Discordance between genotypic and phenotypic methods for the detection of rifampicin and isoniazid resistant *Mycobacterium tuberculosis* and the correlation with patient treatment outcomes, *J. Clin. Tuberc. Other Mycobact. Dis.* 34 (2024) 100410. <https://doi.org/10.1016/j.jctube.2023.100410>.
- [21] F. Huo, Y. Ma, S. Li, Y. Xue, Y. Shang, L. Dong, Y. Li, Y. Pang, Specific *gyrA* Gene Mutations Correlate with High Prevalence of Discordant Levofloxacin Resistance in *Mycobacterium tuberculosis* Isolates from Beijing, China, *J. Mol. Diagnostics* 22 (2020) 1199–1204. <https://doi.org/10.1016/j.jmoldx.2020.06.010>.
- [22] C. Bokop, L.M. Faye, T. Apalata, Analysis of Discordance between Genotypic and Phenotypic Assays for Rifampicin-Resistant *Mycobacterium tuberculosis* Isolated from Healthcare Facilities in Mthatha, *Pathogens* 12 (2023) 909. <https://doi.org/10.3390/pathogens12070909>.
- [23] G. Fekadu, T. Tolossa, F. Bekele, X. Chen, Y. He, J. Yu, X. Yi, M. Liu, G. Fetensa, D. Dugassa, E. Turi, T.R. Feyissa, N. Chaiyakunapruk, L. Yang, S. Chen, W.-K. Ming, Impact of all-oral bedaquiline-based shorter regimens in the treatment of drug-resistant tuberculosis: a systematic review and meta-analysis, *BMJ Glob. Heal.* 10 (2025) e018220. <https://doi.org/10.1136/bmjgh-2024-018220>.
- [24] A.M.I. Saktiawati, A. Vasiliu, F. Saluzzo, O.W. Akkerman, Strategies to Enhance Diagnostic Capabilities for the New Drug-Resistant Tuberculosis (DR-TB) Drugs, *Pathogens* 13 (2024) 1045. <https://doi.org/10.3390/pathogens13121045>.
- [25] W. Nenhan, T. Lili, Z. Yanfeng, C. Shuangshuang, T. LiYing, L. Qiao, L. Chuanyou, D. Xiaowei, Study of fluoroquinolones resistance in rifampicin-resistant tuberculosis patients in Beijing: Characteristics, trends, and treatment outcomes, *Anim. Model. Exp. Med.* 8 (2025) 906–915. <https://doi.org/10.1002/ame2.12505>.
- [26] G. Ramasubban, J.S. Michael, R. Gupta, K. Channamaneni, D. Krishnan, D. Chandran, S. Hoffner, P. Asalapuram, Novel diagnostic test for the detection of *Mycobacterium tuberculosis* and its resistance to rifampicin, isoniazid, and fluoroquinolones directly in sputum samples, *Front. Tuberc.* 3 (2025). <https://doi.org/10.3389/ftubr.2025.1536600>.
- [27] N.N. Linh, K. Viney, M. Gegia, D. Falzon, P. Glaziou, K. Floyd, H. Timimi, N. Ismail, M. Zignol, T. Kasaeva, F. Mirzayev, World Health Organization treatment outcome definitions for tuberculosis: 2021 update, *Eur. Respir. J.* 58 (2021) 2100804. <https://doi.org/10.1183/13993003.00804-2021>.
- [28] A. Berhan, A. Almaw, Y. Solomon, B. Legese, S. Damtie, M. Erkihun, Z. Alebachew, T. Eyayu, G. Abeje, B. Getie, Tuberculosis Treatment Outcome and Associated Factors Among Tuberculosis Patients Linked to Tuberculosis Treatment Clinics in Ethiopia, 2023: A Multi-Center Retrospective Study, *Infect. Drug Resist.* Volume 16 (2023) 3367–3378. <https://doi.org/10.2147/IDR.S413272>.

- [29] S. Tiberi, N. Utjesanovic, J. Galvin, R. Centis, L. D'Ambrosio, M. van den Boom, A. Zumla, G.B. Migliori, Drug resistant TB – latest developments in epidemiology, diagnostics and management, *Int. J. Infect. Dis.* 124 (2022) S20–S25. <https://doi.org/10.1016/j.ijid.2022.03.026>.
- [30] A.N. Win, M.E. Edginton, S.G. Hinderaker, N.N. Minn, A.K. Linn, Tuberculosis treatment outcomes among retreatment patients registered by private practitioners in Myanmar, *Public Heal. Action* 2 (2012) 79–81. <https://doi.org/10.5588/pha.12.0028>.
- [31] G.W. Kasule, S. Hermans, S. Acacio, A. Kay, J.K. Nsubuga, C. Fernández-Escobar, N. Shiba, L. Carratalá-Castro, D. Semugenze, P. Mwachan, S. Munguambe, J. Ehrlich, E. Lopez-Varela, A.R. DiNardo, F. Cobelens, C. Lange, M. Joloba, A.M. Mandalakas, W. Ssengooba, A.L. García-Basteiro, A.L. García-Basteiro, E. López-Varela, B. Saavedra-Cervera, L. Carratalá-Castro, S. Sanz, J. Ehrlich, C. Fernandez-Escobar, M. Dlamini, G. Dlamini, N. Dlamini, N. Mthethwa, N. Kota, M. Dube, B. Sibandze, M. Ziyane, D. Mulengwa, C.G. Adu-Gyamfi, N. Maphalala, B. Nkala, N. Shiba, F. Dlamini, F. Shabalala, S. Dlamini, G. Maphalala, L. Dlamini, S. Dube, S. Acacio, S. Munguambe, L.J. Fonseca, M. Cumbe, E.T. Mambuque, A. Lima, K. Magul, G. Tembe, B.V. Mudumane, F. Cebola, J. Rungo, A.B. Junior, N. Gomis, W. Ssengooba, J.N. Kikoyo, G.W. Kasule, P. Mwachan, M. Nassolo, M. Sekkadde, S.M. Hermans, S. Katuwal, M. Ang, A. Vasiliu, A.M. Mandalakas, A. DiNardo, R. Mejia, J. Bacha, A. Kay, D. Vambe, A. Seeger, C. Lange, I. Kontsevaya, C. Musia, L. Komba, L. Minga, L. Mwita, M. Bariki, N.E. Ntinginya, Performance of stool Xpert MTB/RIF Ultra for detection of Mycobacterium tuberculosis among adults living with HIV: a multicentre, prospective diagnostic study, *The Lancet Microbe* 6 (2025) 101085. <https://doi.org/10.1016/j.lanmic.2025.101085>.
- [32] Y.J. Ryu, Diagnosis of Pulmonary Tuberculosis: Recent Advances and Diagnostic Algorithms, *Tuberc. Respir. Dis.* (Seoul). 78 (2015) 64. <https://doi.org/10.4046/trd.2015.78.2.64>.
- [33] M.A. Pourhoseingholi, M. Vahedi, M. Rahimzadeh, Sample size calculation in medical studies., *Gastroenterol. Hepatol. from Bed to Bench* 6 (2013) 14–7. <http://www.ncbi.nlm.nih.gov/pubmed/24834239>.
- [34] A.O. Kehinde, A. Baba, R.A. Bakare, O.M. Ige, C.F. Gbadeyanka, O.E. Adebisi, Pulmonary tuberculosis among health care workers at two designated DOTS Centers in urban city of Ibadan, Nigeria., *Indian J. Med. Res.* 133 (2011) 613–7. <https://doi.org/21727659>.
- [35] C. Vilchèze, L. Kremer, Acid-Fast Positive and Acid-Fast Negative Mycobacterium tuberculosis : The Koch Paradox, *Microbiol. Spectr.* 5 (2017). <https://doi.org/10.1128/microbiolspec.TB2-0003-2015>.
- [36] V. Prasad, Rapid Immunochromatographic Test for the Identification and Discrimination of Mycobacterium tuberculosis Complex Isolates from Non-tuberculous Mycobacteria, *J. Clin. DIAGNOSTIC Res.* (2014). <https://doi.org/10.7860/JCDR/2014/7098.4253>.
- [37] N. Kumar, A. Agarwal, T.N. Dhole, Y.K. Sharma, Rapid identification of Mycobacterium tuberculosis complex in clinical isolates by combining presumptive cord formation and MPT64 Antigen Immunochromatographic Assay, *Indian J. Tuberc.* 62 (2015) 86–90. <https://doi.org/10.1016/j.ijtb.2015.04.007>.

- [38] N. Zaporozhan, R. Hodişan, C. Pantiş, A.N. Csep, C. Zaporozhan, D.C. Zaha, Genotypic and Phenotypic Methods in the Detection of MDR-TB and Evolution to XDR-TB, *Antibiotics* 14 (2025) 732. <https://doi.org/10.3390/antibiotics14070732>.
- [39] V. Mirovic, Z. Lepsanovic, Evaluation of the MB/BacT System for recovery of mycobacteria from clinical specimens in comparison to Lowenstein-Jensen medium, *Clin. Microbiol. Infect.* 8 (2002) 709–714. <https://doi.org/10.1046/j.1469-0691.2002.00448.x>.
- [40] G. Naveen, Comparison of the Lowenstein-Jensen Medium, the Middlebrook 7H10 Medium and MB/BacT for the Isolation of Mycobacterium Tuberculosis (MTB) from Clinical Specimens, *J. Clin. DIAGNOSTIC Res.* (2012). <https://doi.org/10.7860/JCDR/2012/4603.2635>.
- [41] N. Schönfeld, T. Bergmann, S. Vesenbeckh, H. Mauch, G. Bettermann, T. Bauer, H. Rüssmann, Minimal inhibitory concentrations of first-line drugs of multidrug - resistant tuberculosis isolates, *Lung India* 29 (2012) 309. <https://doi.org/10.4103/0970-2113.102794>.
- [42] D. Falzon, N. Gandhi, G.B. Migliori, G. Sotgiu, H.S. Cox, T.H. Holtz, M.-G. Hollm-Delgado, S. Keshavjee, K. DeRiemer, R. Centis, L. D'Ambrosio, C.G. Lange, M. Bauer, D. Menzies, Resistance to fluoroquinolones and second-line injectable drugs: impact on multidrug-resistant TB outcomes, *Eur. Respir. J.* 42 (2013) 156–168. <https://doi.org/10.1183/09031936.00134712>.
- [43] N.S. Gomathi, V. Kumar, Reliability of Mycobacterial Growth Indicator Tube (MGIT) 960 for the detection of isoniazid resistance in a tuberculosis endemic setting, *Indian J. Med. Res.* 139 (2014) 471–3. <https://doi.org/24820845>.
- [44] M. Getahun, G. Ameni, H. Mollalign, G. Diriba, D. Beyene, Genotypic and phenotypic drug-resistance detection and prevalence of heteroresistance in patients with isoniazid- and multidrug-resistant tuberculosis in Ethiopia, *IJID Reg.* 2 (2022) 149–153. <https://doi.org/10.1016/j.ijregi.2021.12.007>.
- [45] M. Ejo, G. Torrea, C. Uwizeye, M. Kassa, Y. Girma, T. Bekele, Y. Ademe, E. Diro, F. Gehre, L. Rigouts, B.C. de Jong, Genetic diversity of the Mycobacterium tuberculosis complex strains from newly diagnosed tuberculosis patients in Northwest Ethiopia reveals a predominance of East-African-Indian and Euro-American lineages, *Int. J. Infect. Dis.* 103 (2021) 72–80. <https://doi.org/10.1016/j.ijid.2020.11.129>.
- [46] K. Singh, B.S. Barik, S. Das, T. Hussain, B. Gupta, D. Das, S. Pati, Drug susceptibility testing and line probe assay of first-line anti-tuberculosis drugs among presumptive tuberculosis patients attending a secondary care hospital in Bhubaneswar, *J. Fam. Med. Prim. Care* 13 (2024) 2491–2498. https://doi.org/10.4103/jfmprc.jfmprc_736_23.
- [47] J. Jian, X. Yang, J. Yang, L. Chen, Evaluation of the GenoType MTBDRplus and MTBDRsl for the detection of drug-resistant Mycobacterium tuberculosis on isolates from Beijing, China, *Infect. Drug Resist.* Volume 11 (2018) 1627–1634. <https://doi.org/10.2147/IDR.S176609>.
- [48] E.S. Click, E. V Kurbatova, H. Alexander, T.L. Dalton, M.P. Chen, J.E. Posey, J. Ershova, J.P. Cegielski, Isoniazid and Rifampin-Resistance Mutations Associated

- With Resistance to Second-Line Drugs and With Sputum Culture Conversion, *J. Infect. Dis.* 221 (2020) 2072–2082. <https://doi.org/10.1093/infdis/jiaa042>.
- [49] M.A. Reta, N.E. Maningi, P.B. Fourie, Patterns and profiles of drug resistance-conferring mutations in *Mycobacterium tuberculosis* genotypes isolated from tuberculosis-suspected attendees of spiritual holy water sites in Northwest Ethiopia, *Front. Public Heal.* 12 (2024). <https://doi.org/10.3389/fpubh.2024.1356826>.
- [50] N. Zhang, T.S. Mughogho, R. Kaseka, D.M. Ndovi, Z. Wang, J. Hu, X. Wang, Characterization of *Mycobacterium Tuberculosis* (MTB)-Positive Individuals within the Healthcare Catchment Area of Mzuzu Central Hospital, Malawi, *Malawi Med. J.* 37 (2025) 10–15. <https://doi.org/10.4314/mmj.v37i1.2>.
- [51] A. Vessière, H. Font, D. Gabillard, L. Adonis-Koffi, L. Borand, C. Chabala, C. Khosa, S. Mavale, R. Moh, V. Mulenga, J. Mwanga-Amumpere, J.-V. Taguebue, M.T. Eang, C. Delacourt, J.A. Seddon, M. Lounnas, S. Godreuil, E. Wobudeya, M. Bonnet, O. Marcy, Impact of systematic early tuberculosis detection using Xpert MTB/RIF Ultra in children with severe pneumonia in high tuberculosis burden countries (TB-Speed pneumonia): a stepped wedge cluster randomized trial, *BMC Pediatr.* 21 (2021) 136. <https://doi.org/10.1186/s12887-021-02576-5>.
- [52] A. Ulasi, N. Nwachukwu, R. Onyeagba, S. Umeham, A. Amadi, Prevalence of rifampicin resistant tuberculosis among pulmonary tuberculosis patients In Enugu, Nigeria, *Afr. Health Sci.* 22 (2022) 156–161. <https://doi.org/10.4314/ahs.v22i2.18>.
- [53] M.M. Ibrahim, T.M. Isyaka, U.M. Askira, J.B. Umar, M.A. Isa, A. Mustapha, A. Salihu, Trends in the incidence of Rifampicin resistant *Mycobacterium tuberculosis* infection in northeastern Nigeria, *Sci. African* 17 (2022) e01341. <https://doi.org/10.1016/j.sciaf.2022.e01341>.
- [54] E. Carvajal, S. Escandón, P.D. Adewole, B. Castro-Rodríguez, Á.S. Rodríguez-Pazmiño, S.A. Orlando, A. Narvaez, O.S. Alabi, M.A. Garcia-Bereguai, Population structure and antibiotic resistance profiles of *Mycobacterium tuberculosis* isolates from Ibadan, Nigeria (2019–2020): a pilot study to improve affordable molecular diagnostic tools, *Front. Public Heal.* 13 (2025). <https://doi.org/10.3389/fpubh.2025.1657825>.
- [55] E.-L. Tan, Y. Qin, J. Yang, X.-J. Li, T.-Q. Liu, G.-B. Yang, Y.-J. Li, Z.-Z. Zhang, Z.-H. Lu, J.-C. Wang, J.-X. Zheng, S.-X. Zhang, Global burden of MDR-TB and XDR-TB: trends, inequities, and future implications for public health planning, *BMC Infect. Dis.* 25 (2025) 1225. <https://doi.org/10.1186/s12879-025-11566-2>.
- [56] I.D. Otchere, A. Asante-Poku, K.F. Akpadja, A.B. Diallo, A. Sanou, P. Asare, S. Osei-Wusu, N. Onyejebu, B. Diarra, Y.A. Dagnra, A. Kehinde, M. Antonio, D. Yeboah-Manu, Opinion review of drug resistant tuberculosis in West Africa: tackling the challenges for effective control, *Front. Public Heal.* 12 (2024). <https://doi.org/10.3389/fpubh.2024.1374703>.
- [57] N.A. Ismail, L. Mvusi, A. Nanoo, A. Dreyer, S. V Omar, S. Babatunde, T. Molebatsi, M. van der Walt, A. Adelekan, V. Deyde, C. Ihekweazu, S.A. Madhi, Prevalence of drug-resistant tuberculosis and imputed burden in South Africa: a national and sub-national cross-sectional survey, *Lancet Infect. Dis.* 18 (2018) 779–787. [https://doi.org/10.1016/S1473-3099\(18\)30222-6](https://doi.org/10.1016/S1473-3099(18)30222-6).
- [58] H.M. Yapa, E.L.-H. MacLean, N.A. Menzies, P.J. Dodd, A. Dean, F. Mirzayev, S.G. Schumacher, L.N. Nguyen, M. Zignol, G.J. Fox, Drug-resistant tuberculosis: a

- priority pathogen for enhanced public health research and practice, *Clin. Microbiol. Rev.* 38 (2025). <https://doi.org/10.1128/cmr.00064-25>.
- [59] J.P. Cegielski, E. Kurbatova, M. van der Walt, J. Brand, J. Ershova, T. Tupasi, J.C. Caoili, T. Dalton, C. Contreras, M. Yagui, J. Bayona, C. Kvasnovsky, V. Leimane, L. Kuksa, M.P. Chen, L.E. Via, S.H. Hwang, M. Wolfgang, G. V. Volchenkov, T. Somova, S.E. Smith, S. Akksilp, W. Wattanaamornkiet, H.J. Kim, C. Kim, B.Y. Kazenny, T. Khorosheva, K. Kliiman, P. Viiklepp, R. Jou, A.S.-E. Huang, I.A. Vasilyeva, O. V. Demikhova, J. Lancaster, R. Odendaal, L. Diem, T.C. Perez, T. Gler, K. Tan, C. Bonilla, O. Jave, L. Asencios, G. Yale, C. Suarez, A.T. Walker, I. Norvaisha, G. Skenders, I. Sture, V. Riekstina, A. Cirule, E. Sigman, S.-N. Cho, Y. Cai, S. Eum, J. Lee, S. Park, D. Jeon, I.C. Shamputa, B. Metchock, T. Kuznetsova, R. Akksilp, W. Sitti, J. Inyapong, E. V. Kiryanova, I. Degtyareva, E.S. Nemtsova, K. Levina, M. Danilovits, T. Kummik, Y.-C. Lei, W.-L. Huang, V. V. Erokhin, L.N. Chernousova, S.N. Andreevskaya, E.E. Larionova, T.G. Smirnova, Multidrug-Resistant Tuberculosis Treatment Outcomes in Relation to Treatment and Initial Versus Acquired Second-Line Drug Resistance, *Clin. Infect. Dis.* 62 (2016) 418–430. <https://doi.org/10.1093/cid/civ910>.
- [60] W. Shi, L. Davies Forsman, Y. Hu, X. Zheng, Y. Gao, X. Li, W. Jiang, J. Bruchfeld, V.K. Diwan, S. Hoffner, B. Xu, Improved treatment outcome of multidrug-resistant tuberculosis with the use of a rapid molecular test to detect drug resistance in China, *Int. J. Infect. Dis.* 96 (2020) 390–397. <https://doi.org/10.1016/j.ijid.2020.04.049>.
- [61] M.J. Nasiri, M. Amiri, M. Cheraghi, D.R. Silva, G. Sotgiu, L. D'Ambrosio, R. Centis, M. Mileva-Lopez, T.M. Hill, S. Gidey, K. Diaby, N. Hittel, H. Gandhi, M. Dara, 15-year trends in efficacy and effectiveness of treatment outcomes in drug-resistant pulmonary TB, *IJTLDP OPEN* 2 (2025) 187–198. <https://doi.org/10.5588/ijtdopen.24.0620>.
- [62] M. Tilahun, T. Wegayehu, B. Wondale, T.T. Gebresilase, T. Gebreyohannes, A. Tekola, M. Alemu, S. Neway, B. Adnew, M.F. Nassir, Y. Kassahun, A. Aseffa, K. Bobosha, Phenotypic and genotypic drug susceptibility patterns of *Mycobacterium tuberculosis* isolates from pulmonary tuberculosis patients in Central and Southern Ethiopia, *PLoS One* 18 (2023) e0285063. <https://doi.org/10.1371/journal.pone.0285063>.
- [63] A. Vīksna, D. Sadovska, I. Berge, I. Bogdanova, A. Vaivode, L. Freimane, I. Norvaiša, I. Ozere, R. Ranka, Genotypic and phenotypic comparison of drug resistance profiles of clinical multidrug-resistant *Mycobacterium tuberculosis* isolates using whole genome sequencing in Latvia, *BMC Infect. Dis.* 23 (2023) 638. <https://doi.org/10.1186/s12879-023-08629-7>.
- [64] G. Carpi, M. Seifert, A. De la Rossa, S. Uplekar, C. Rodrigues, N. Tukvadze, S. V. Omar, A. Suresh, T.C. Rodwell, R.E. Colman, Comparative assessment of line probe assays and targeted next-generation sequencing in drug-resistant tuberculosis diagnosis, *EBioMedicine* 119 (2025) 105875. <https://doi.org/10.1016/j.ebiom.2025.105875>.
- [65] S. Tamilzhalagan, E.S. Justin, A. Selvaraj, K. Venkateswaran, A.K. Sivakumar, S. Chittibabu, H.P. McLaughlin, P.K. Moonan, J.P. Smith, S. Suba, M.K. Sathya Narayanan, C.S. Ho, N. Kumar, S.P. Tripathy, S.K. Shanmugam, P.J. Hall-Eidson, U.D. Ranganathan, Phenotypic and genotypic characterization of *Mycobacterium*

- tuberculosis pyrazinamide resistance—India, 2018–2020, *Front. Microbiol.* 15 (2025). <https://doi.org/10.3389/fmicb.2024.1515627>.
- [66] F. Brossier, W. Sougakoff, A. Aubry, C. Bernard, E. Cambau, V. Jarlier, F. Mougari, L. Raskine, J. Robert, N. Veziris, Molecular detection methods of resistance to antituberculosis drugs in *Mycobacterium tuberculosis*, *Médecine Mal. Infect.* 47 (2017) 340–348. <https://doi.org/10.1016/j.medmal.2017.04.008>.
- [67] J. Heyckendorf, S. Andres, C.U. Köser, I.D. Oлару, T. Schön, E. Sturegård, P. Beckert, V. Schleusener, T.A. Kohl, D. Hillemann, D. Moradigaravand, J. Parkhill, S.J. Peacock, S. Niemann, C. Lange, M. Merker, What Is Resistance? Impact of Phenotypic versus Molecular Drug Resistance Testing on Therapy for Multi- and Extensively Drug-Resistant Tuberculosis, *Antimicrob. Agents Chemother.* 62 (2018). <https://doi.org/10.1128/AAC.01550-17>.
- [68] G. Diriba, A. Alemu, H.H. Tola, B. Yenew, M. Amare, K. Eshetu, W. Sinshaw, Y. Abebaw, A. Meaza, G. Seid, S. Moga, B. Zerihun, M. Getu, B. Dagne, H. Mollalign, M. Tadesse, B. Buta, N. Wordofa, E. Alemu, A. Erresso, M. Hailu, Z. Tefera, A. Wondimu, T. Belhu, D.F. Gamtesa, M. Getahun, A. Kebede, S. Abdela, Pre-extensively drug-resistant tuberculosis among multidrug-resistant tuberculosis patients in Ethiopia: a laboratory-based surveillance study, *IJID Reg.* 5 (2022) 39–43. <https://doi.org/10.1016/j.ijregi.2022.08.012>.
- [69] M.Z. Skosana, M.L. Dingiswayo, M.A. Van Der Spoel Van Dijk, Laboratory-confirmed DR, pre-XDR, and XDR-TB cases reported in the Free State, South Africa, from 2019 to 2022, according to previous and updated WHO definitions, *Int. J. Infect. Dis.* 152 (2025) 107648. <https://doi.org/10.1016/j.ijid.2024.107648>.
- [70] A. D. Pranger, J. W.C. Alffenaar, R. E. Aarnoutse, Fluoroquinolones, the Cornerstone of Treatment of Drug-Resistant Tuberculosis: A Pharmacokinetic and Pharmacodynamic Approach, *Curr. Pharm. Des.* 17 (2011) 2900–2930. <https://doi.org/10.2174/138161211797470200>.
- [71] A.D. Pranger, T.S. van der Werf, J.G.W. Kosterink, J.W.C. Alffenaar, The Role of Fluoroquinolones in the Treatment of Tuberculosis in 2019, *Drugs* 79 (2019) 161–171. <https://doi.org/10.1007/s40265-018-1043-y>.
- [72] G. Diriba, A. Alemu, B.Z. Ayano, B. Yenew, M. Hailu, B. Buta, A. Wondimu, Z. Tefera, Z. Ababu, Y. Ebisa, S. Moga, G. Tadesse, Acquired bedaquiline and fluoroquinolones resistance during treatment follow-up in Oromia Region, North Shewa, Ethiopia, *IDCases* 36 (2024) e01988. <https://doi.org/10.1016/j.idcr.2024.e01988>.
- [73] S. Khoshnood, M. Goudarzi, E. Taki, A. Darbandi, E. Kouhsari, M. Heidary, M. Motahar, M. Moradi, H. Bazayr, Bedaquiline: Current status and future perspectives, *J. Glob. Antimicrob. Resist.* 25 (2021) 48–59. <https://doi.org/10.1016/j.jgar.2021.02.017>.
- [74] A.T. Gessese, M.Z. Kinde, T. Eshetu, B. Kerisew, Whole-genome sequencing analysis to identify antimicrobial resistance regions and virulence factors in *Mycobacterium tuberculosis* isolates from the Amhara Region, Ethiopia, *Sci. Rep.* 15 (2025) 16076. <https://doi.org/10.1038/s41598-025-01241-6>.
- [75] B. Chekesa, H. Singh, N. Gonzalez-Juarbe, S. Vashee, R. Wiscovitch-Russo, C.L. Dupont, M. Girma, O. Kerro, B. Gumi, G. Ameni, Whole-genome sequencing-based genetic diversity, transmission dynamics, and drug-resistant mutations in

Mycobacterium tuberculosis isolated from extrapulmonary tuberculosis patients in western Ethiopia, *Front. Public Heal.* 12 (2024). <https://doi.org/10.3389/fpubh.2024.1399731>.

- [76] J.Y. Kang, J. Hur, S. Kim, S. Jeon, J. Lee, Y.J. Kim, S.C. Kim, Y.J. Park, Y.K. Kim, H.S. Moon, Clinical implications of discrepant results between genotypic MTBDRplus and phenotypic Löwenstein-Jensen method for isoniazid or rifampicin drug susceptibility tests in tuberculosis patients, *J. Thorac. Dis.* 11 (2019) 400–409. <https://doi.org/10.21037/jtd.2019.01.58.a>